
R = 0.9 , p = 3.5e−16

100

200

300

400

100 200 300

Replicate 1

R
ep

lic
at

e 
2

Observed richness

R = 0.9 , p = 3.5e−16

100

200

300

400

100 200 300

Replicate 1

R
ep

lic
at

e 
2

Chao1 richness

R = 0.97 , p < 2.2e−16

2

3

4

2 3 4

Replicate 1

R
ep

lic
at

e 
2

Shannon diversity

R = 0.85 , p = 7.1e−13

10

15

20

25

30

10 20 30

Replicate 1

R
ep

lic
at

e 
2

Faith's Phylogenetic diversity

R = 0.87 , p = 9.9e−14

0.05

0.10

0.15

0.0 0.1 0.2

Replicate 1

R
ep

lic
at

e 
2

Simpson evenness

R = 0.98 , p < 2.2e−16

0.0

0.1

0.2

0.3

0.4

0.5

0.0 0.1 0.2 0.3 0.4 0.5

Replicate 1

R
ep

lic
at

e 
2

Simpson dominance

Population
Ba

Bg26

Bg36

Bg121

BgBRE

BgBS90

BgNMRI

Water


